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L If z= f(x,y) =200- 0.005x* —0.01y?, find a vector giving the direction in which f(x,y)
decreases quickest at the point (x,y,z) = (100, 50,125) :
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The equation of the tangent line to the graph of y =x° +e” at x=11s

The slope of the tangent line to the graph of y =(x+ 2)%” at x=11s .

By using the linearization of f(x)= Yx at x=32 to approximate 3/31.8 , we have 31.8 =

The horizontal asymptote(s) of the graph of f(x) =
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. The vertical asymptote(s) of the graph of f(x)=—
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If xy? —x2y =2, then % at the point (x, y) =(1,-1) is
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. The third-degree Maclaurin polynomial for f(x)= e s
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. The limit of the sequence { -%72—} is

1imx~—)00 {

Inx

10(\)[;




i 2 HE 2 H

o HEEQS%) [FA SH, 109, 105 FETHeEY A HEE > FRAFFH2]

1. Show that Le Inx dx = Le —1—dx
X

2. Sketch and indicate the region bounded by the graphs of y=x/2 and x = y* —3. Then, express
. the area of the region in terms of (1) integration with respect to x, and (2) integration with respect to y.
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3. Sketch the graph of the function f(x)=23x"+4x’ +1, by discussing its increasing/decreasing, local
extrema, concavity, and asymptotes. (87 & 2t ag EIE BRI ~ BHIARME ~ WM~ BTG RES
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